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9.10 More Conf1dence Intervals Practice ? ST

1. A town takes a poll of its residents to find out how many people would be willing to pay a new tax
to repair the town’s sidewalks. Out of 1100 people polled, only 130 said that they would be willing
to pay. : .
(a) Find a 90% confidence interval for the proportion of the whole town that would be willingto
pay the éxtra tax.
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(b) If 15,000 people live in this town, then we are 90% confident that between ‘ g 9\0‘ and
Al will be willing to pay this tax.” (Fill in with numbers of people.)
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2. A company that produces white bread is concerned about the distribution of the amount of
sodium in its bread. The company takes a simple random sample of 100 slices of bread and
computes the sample mean to be 103 milligrams of sodium per slice. ,
(a) Constructa 99% confidence interval for the unknown mean sodium level ass

population standard deviation is 10 milligrams. 1o AN 9§
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(b) Interpret the 99% confidence interval found in (a). AN '?
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3. . You work for a consumer advocate agency and want to find the mean repair cost of a washing _,O cﬁ{')
machine. In the past, the standard deviation of the cost of repairs for washing machines has béen I
$17.50. As part of your study, you randomly select 40 repair costs and find the mean to

() Calculate a 85% confidence interval for the population mean.
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(b) Interpret the interval found in (a).
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4. You want to estimate the mean fuel efficiency for all Ford Focus cars with 99% confidence and a
~ margin of error of no more than 1 mile per gallon. Preliminary data suggests that ¢ = 2.4 miles per

gallon is a reasonable standard deviation for all cars of this make and model. How large a sample
dqglou need? .
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5. The actual time it takes to cook a 10-pound turkey is a Normal random variable with a mean of 2.8
hours and a standard deviation of 0.24 hours Suppose that a random sample of 35 10—pound Iy
turkeys is taken. AR Sl

(2) What is the probability that a randomly selected 10—pound turkey will take less than 3. 1 hours
to cook? -
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(b) What is  the probablhty that the average cookmg time of a 10—pound turkey will take between
2.7 and 2.95 hours to cook?
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(c) Given thatan average of 2. 9 hours was found for a sample of 35 turkeys, calculate an 80% :
‘ confldence mterval for the average cookmg tlme ofa 10—pound turkey
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6. We1ght Watchers takes a poll of 250 members and finds that 95 of them include exercise w1th thelr

diet program, while the rest do not. Fmd a'99% confidence interval for'the proporuon of all
members that do exercise.
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7. A magazme polls 395 readers and fmds that 95 of them bought the magazme in the store, Whlle the

rest had a subscr1pt10n Fmd an 87% conf1dence interval for the proportlon of all readers who have o
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8. F]ll in the' lanks ‘with one of the fo]lowmg for how the margm of error is Jmpacted increases,
tays the here ME = R | ;
decredses, or s ays the same where - Z ( \/ﬁ) ( i JA 5} ‘3 .
As the sample size (n) increases, the margih of error (ME) 0/ ecranses fa Al *3 J 4\)
~ As the confidence level (C%) iritreases, the margin of error (ME) _/A¢/€ases [ wider wirdowt, 2
As the standard deviation () increases, the margin of error (ME) _/72¢1245€.€ / More . va rm’!l/:
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